€J0T PpOPI-g-90 3

Limits of Railing, TS-1 ‘Limits of Guardrail

Transition

(KI I&
fm] m] =]

]

<>,

Top of Concrete

—
$

= =] g = s Deck

4 1/4" Cir. —,

1"

NOTES:

1.

5/16" Hex Bolt with Hex Nut (1 ea.)
& 13/4" x 1 3/4" x 3/16" Sq. Washer
with 3/8" @ Hole in Center (1 ea.)

28"

Eirs

See Standard Drawings E 601-TBGC and -02 for thrie beam rail
section.

. TS-1 railing and TGS-1 transition details are acceptable as NCHRP

Report 350 Test Level 2.

Thrie Beam [ i H
Bridge Railing

\
R

——— Post
os\“

Bearing Plate ——_|

Thrie-Beam Bridge Railing

D)

|
— —fﬁ 3/4" @ Hex Bolt (1 ea) —[=F—

Post Spacing Varies 6'-3" to 8'-4" )

Length as Shown on Plans.

7

PLAN VIEW 1" @ Anchor Bolts with
Heavy Hex Nuts (2 ea.)
with 2'-10" Embedment
90° Bend with 1'-0"
Extension.

T T
| | |
i ! B
| | I
[

ELEVATION VIEW

Base Plate

i ]
I — /
\— Steel Tube Spacer

j Assembly x

3/8" Hex Bolt
(lea.)

THRIE-BEAM BRIDGE RAILING
ASSEMBLY DETAILS

_—— Plate

=———— 1" @ Anchor

Bolts.

Base Plate

INDIANA DEPARTMENT OF TRANSPORTATION

RAILING, TS-1

TT-10-60 JoJv 1O UQ BUMBaT 10 ‘13




€30 ¢ PpOPTI-g-90/ 3

3"

L
nab
L7/8" @ thru

BEARING PLATE

TS 6" x 3" x M'u
x 3'-5" post
T \
|

x—|: 1 Hole i|-/
*'0
each face. ,
7—|: 1 Hole i|_\ .
%9
each face.

I
i

|

I

|
N
|4 |

Al

=

35"

N

I_If__'}; 5%"
f

SECTION
BRIDGE STEEL POST DETAIL

REAR VIEW

= 1 Hole
%u @ . .,
each face. 1%

TS

5"%2"x¥%"x5 %"

r" 7T

Plate

BT

Drill & tap

6||X2nx%n

NOTES:
@ Post length may vary. If the 1" * anchor

bolts in the deck must be lowered to
accommodate the deck reinforcing steel,
the steel base plate shall be lowered and
the post length increased.

6"x2"x%" Plate

Y

™ Q ||

= O
t \1 %"

STEEL TUBE SPACER ASSEMBLY

%u -10
UNC thru

%u* _—

14" @ thru —<]
Drill & tap ﬂ\@\@—

_q___ _____

*"-16 I |
UNC thru — . —- —r]——-
o
| I |
L U I
e
8"
BASE PLATE

%n

1%u
10"

3%"

INDIANA DEPARTMENT OF TRANSPORTATION

RAILING, TS-1

T1-10-60 19}V J0 UQ bumaT Joj "}3




€340¢ pOrTI-g-90 3

Side-mounted

4 spa. @ 3'-11/2" = 12'-6"

1spa. @ 6'-3"

W-beam guardrail

(? I I I I I I
0 5 i X X 5 X
I I I I I I
<
I —
Bridge joint ——— |
e
S Front face of railing
U X X X X X X
I I I I I I
I I I I I
Varies | | 1 | |
9" to 3'-1 1/2"
/ I I I I i
|

thrie-beam railing
on bridge

Two-5/8" x 2" std. button head
bolts, with rectangular plate
washers, round washers, and
recess nuts through rail
sections at each post

Thrie-beam guardrail section _| W-thrie beam transition section
T

PLAN VIEW

Twelve-5/8" x 2" std. button
head bolts with round washers
and recess nuts at 2 posts

Two-5/8" x 2" std. button head bolts
with rectangular plate washers, round
washers, and recess nuts at each post

W-beam guardrail section

One-5/8" x 1 1/4" std.
button head bolt

with rectangular

plate washer, round
washer, and recess
nut at each post.

Eight-5/8" x 1 1/4" std. button
head bolts with round

|washers and recess nuts

T
Bridge steel post

Il !
' ; i T = 1 i t—
h o . Y | |' |1'1'
L o LR e -
o LA : N = 1
! il
X I | | | ~ /-Edge of paved shoulder
BRIDGE . ¥
¥ o ‘%
v v E
ELEVATION \ Standard guardrail post (typ.)

NOTES:
1. See Reccurring Plan Detail E 706-B-140d
1 of 3, for bridge Steel Post Detail.

2. See Standard Drawings E 601-TBGC-01 and
E 601-TBGC-02 for thrie-beam guardrail components.

3. See Standard Drawings E 601-WBGC-01, E 601-WBGC-02
and E 601-WBGC-03 for W-beam guardrail components.

INDIANA DEPARTMENT OF TRANSPORTATION

GUARDRAIL TRANSITION, TGS-1

11-10-60 494V J0 uQ bums Joj "3




	706-B-140d1
	706-B-140d2
	706-B-140d3

